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| e #l2 19.0 18.0|1 7.0 6.0/[1] 20.0[(3 8.0|(B] 16.0 11.0|[7] 14.0 13.0)07 4.0 9.0/[@) 17.0{[@] 12.0|[6] 15.0 5.0 10.0 2.0|@ 1.0 3.0  210.0
# |2] 18.0[8] 17.0|[5] 15.0|[4] 16.0|[1] 19.0|[8] 11.5|] 9.0 10.0|(17] 8.0l 5.5|(13 7.0|04 5.5|[6] 14.0 3.0{[7] 13.0l016] 4.0 2.0/8] 11.5] — [ 1.0 190.0
2 | K Tk 20.0 18.0[(2] 19.0 13.0 17.0|[8] 16.0 10.0{021  9.0|071 4.0[[7] 14.0|04 7.0 11.0|[6] 15.0/08 6.0{[@] 12.0|[3 8.0 5.0 1.0 3.0{19] 2.0 210.0
3 | #k=CEFEK 18.5| K% 13.5|(1] 18.5|[2] 16.5|(5] 8.0{[5] 8.0 13.5|(5] 8.0|[2] 16.5[B] 8.0|(3] 13.5{[6] 8.0 8.0l0l 2.0|[5] 8.0 13.5[[6] 2.0f — 9] 2.0 186.0
4| v rr—n B I8 14.5|[3 17.5[Q] 8.5|[Q] 8.5|[9] 8.5|[6] 14.5[8] 8.5 19.5 2.5|[5] 14.5 19.5 2.5|[8] 14.5|[8] 17.5|[9] 8.5|[8) 8.5|[Q) 8.5 2.5|Q] 85|11 2.5 210.0
|8l 4.0 14.5][5] 9.5|9] 4.0 9.5 14.5[9] 4.0l0] 4.0{[@] 12.5|6] 9.5|5] 9.5/0] 4.0[[0] 4.0lQ] 4.0 — — 12.5 — = = 120.0
5| Y7 hT=R 10.5{[1] 17.5 17.5 17.5 4.0[13 4.0 10.5/[6] 14.5|[7] 10.5 10.5 10.5)[1] 17.5 4.0 4,031 4.0]18 4.0 10.5 14.5[13 4.0 — 190.0
6 | B2 K 18.0|[3] 15.5([5] 12.5{[6] 12.5|[Q] 6.5 1.5|B 12.5[@] 15.5][2] 17.0[[8] 6.5|0] 6.5]6] 6.5/0] 6.5|6] 12.5/[@1 6.5)01 1.5(9) 6.5 — — @] 6.5 171.0
% 2 PRI 5 2.5 18.0[8] 8.5 2.5|[9] 8.5|Q] 8.5|[5] 14.5 20.0|[4] 17.0|[B] 14.5 2.5 2.5|[8] 14.5|[6] 14.5 19.0[[@] 8.5|[Q] 8.5/@] 8.5|9) 8.5|Q] 8.5| 210.0
% |[1] 20.0|[2] 19.0{[3] 18.0|07] 2.5[[4] 17.0[9] 8.5|9] 8.5 2.5|0]  8.5/[5) 14.5|[0] 8.5|[9] 8.5|(5] 14.5|(5] 14.5|[6] 14.5 2.5[0] 8.5|07 2.5|0] 8.5[[9] 8.5 210.0
g | L E |5 12.5 18.0 15.5((5] 12.5 1.5 15.5|@ 6.5(2) 17.0|B] 12.5|[B] 12.5|[8] 6.5/ 6.5/ 6.5|0)] 65|00 1.5/9] 6.5/@] 6.59) 6.5 — — 171.0
+ |5l 13.5|[3] 16.5|[0] 7.5|[6] 13.5[[3] 16.5 13.5/(2] 18.0 19.0[0] 7.5|0] 7.5|0] 7.5 2.0[@] 7.5 2.0|[6] 13.5|M 2.0 7.5|[8] 7.5|0] 7.5| — 190.0
ol sxry F—n 5 18.0[(B] 12.5|[Q] 6.5|[8] 6.5|[8] 6.5 12.5 17.0 1.5|(8] 12.5|[5] 12.5|[Q] 6.5 15.5|9] 6.5 15.58] 6.5[[Q] 6.5 1.5|Q] 6.5 — — 171.0
4|8l 5.5[0  1.0|1] 17.0|B] 11.5|0] 5.5|0] 5.5[Q] 5.50] 5.5\5] 1:.5[91 5.5|09] 5.5|[6] 11.5 14.52] 16.0) — |[3] 14.5|[B] 11.5] — — |8 5.5 153.0
I LU AT i F138] 12.5|[5] 9.5|6] 9.5 — — @ 1253 15.0] — | 4.0|0] 4.0f6] 4.0|@2] 14.0{0] 4.0/ 40 — |6 40lO 4.0/ 9.5|6] 9.5 — 120.0
ML Yy — [3] 17.5|[1] 20.0|[2] 19.0| 2.5 14.5|9] 8.5[[8] 8.5 2.5 2.5|8] 14.5|@] 17.5|[0] 8.5|[0] 8.5[M] 2.5|[5] 14.5([9] 8.5|5] 14.5[9] 8.5|[0Q] 8.5[8Q] 8.5] 210.0
12| % 8 [1] 16.0|(5] 10.5[[Q]1 4.5 13.5/[6] 10.5(0] 4.5[0] 4.5|0] 4.5|(3] 13.5/0) 4.5/[8] 4.5|Q] 4.5[[0 4.5[(5] 10.5|[5] 10.5|(2] 15.0 = — = — 136.0
13| & 38 [5] 14.5|[B] 14.5|0] 8.5|@] 8.5[3] 17.5|[8] 17.5|[M] 2.5(5] 14.5|(1] 20.0{[8] 8.5 2.5/ 2.5|0] 8.5|6] 14.5/Q] 8.5([2] 19.0 2.5|0] 8.5|[9) 8.5[8] 8.5]  210.0
Al14l 5 B [1] 17.0/[6] 12.0 3.0|[7] 11.0 10.0/03  5.0{[2) 16.0[[5] 13.0[00 8.0 15.0 7.0|[4] 14.0 4.0[8] 9.0\l _6.0|[16] 2.0 1.0  — — — 153.0
15| *8 # [3 9.0 7.0 — 8.0{[6] 6.0 2.0 4.5[9] 3.0[[2] 10.0 4.5|1] 11.0] — . — — — — —: - — 65.0
16| # &l & 1] 12.0/5]1 6.5|[6] 6.5{[2] 11.0 9.5|0] 2.5|0] 2.5|5] 6.5[[8] 9.5|5] 6.5 — |©] 2.5 -— — — 9] 2.5 — = — — 78.0
e 17 & F E 14.0[[81 5.0[B] 8.5|Q] 5.0/B] 8.5/(5] 8.5{6] 8.5 11.5]  — 2] 13.0| 2.0{2] 2.0 2.0 — |8 5.0 11.5] = — — — 105.0
718 —F - (5] 10.0{[7] 8.0[[3] 12.0 7.0 4.0((4] 11.0[00] 5.0{0) 6.0 = 1.0J[2] 13.0 3.0 2.0{6] 9.0|[1] 14.0 - — — — — 105.0
19| 7 L —fex O] 4.0[7] 6.0|[3] 10.0 9.0 1.0ll2] 11.0] — 6] 7.0 5.0 3.06] 80 — [ - 12.0 - - 2.0 — - — 78.0
20| & iy [B] 4.5|B] 4.5 7.5|0] 1.5|T] 10.0(6] 4.5[[2] 9.0[6] 15|85 45| — — |3 75 -— — — — — — — — 55.0
Rl2l] 5 = & [6 6.5/(2] 17.0[] 18.0|[3] 16.0[0] 6.5|[] 12.5|[5] 12.5|[6] 12.5|[0] 6.5|(Q] 6.5/(4] 15.0)[6] 6.5|[5] 12.5)[9] 6.5 1.5[[8] 6.5 1.5[[8] 6.5 — — 171.0
02| e p—n = 17.0 8.0 8.0[[Q] 11.5 3.0|15] 3.0 18.0 3.0|2] 19.0 3.0 3.0 8.0|[@] 11.5 8.0 20.0((8] 14.5|5] 14.5|[5) 14.5|M] 8.0|[B] 14.5|  210.0
# |[4] 17.0 19.0 8.0 14.5[[11 8.0 8.0|[16] 3.0 3.0 3.0|016]  3.0[11] 8.0|[5] 14.5 18.0[9] 11.5|(1] 20.0|(5] 14.5 8.0/[5] 14.5|(8 3.0/[9] 11.5]  210.0
2| Ao Y7 (1] 20.0|[8] 13.0|[] 10.0{6] 15.0[7] 14.0|[0] 11.0][2) 19.0 9.0 7.0[09 2.0 8.0[[4] 17.0 4.0|[5] 16.0 5.0[[@] 12.0/[3] 18.0[@ 1.0|M 3.0l 6.0 210.0
oa| 5wy RIS 219 12.0|07 9.0|6] 15.0 11.0 7.0 5.0/ 1.0 18.0([8] 13.0 10.0 17.0{13 8.0|[2] 19.0|5 6.0 14.0 4.0(M 2.0 20.0[5] 16.0 3.0l  210.0
# 18.0 140|000 11.0{17 4.0 5.0(M3 8.0 7.0 2.0 13.0/[5] 16.0 19.0|(6] 15.0|[4] 17.0 3.0 9.0{[9] 12.0 6.0 20.0 10.0 1.o]  210.0
A S s S 416.0] 386.5] 334.5] 204.0] 2915 277.0] 985.0] 280.0| 284.5| 272.0] 248.5| 243.5| 262.5] 248.5| 244.0] 205.5| 186.5| 168.0| 107.5] 92.5] 5,128.0
% il J=3 a10.0l 300.0] 300.0] 300.0] 300.0] 310.0] 300.0] 300.0] 290.0] 300.0] 290.0] 290.0| 270.0] 270.0] 240.0] 260.0] 250.0] 200.0] 150.0f 160.0] 5,390.0
£ & & F 796.0] 686.5] 634.5] 594.0] 591.5] 587.0] 585.0] 580.0] 574.5| 572.0] 538.5| 533.5| 532.5] 518.5| 484.0] 465.5] 436.5] 368.0] 257.5] 252.5] 10,518.0
1| P RBERE [2] 18.0 17.0[5] 15.0|[4) 16.0[1) 19.0{[8] 11.5|[11 9.0|[10 10.0|1Z] 8.0 5.5/ 7.0 5.5/(6] 14.0 3.0{7] 13.0 4.0 2.0(8] 11.5] — 1.0]  190.0
2| V7 hR—n Q] 4.0 14.5[[5] 9.5|8] 4.0[5] 9.5 14.5|[8] 4.0l9] 4.0|[3] 12.5|5] 9.5/[5] 9.5|9] 4.0[[Q] 4.0[8] 4.0 — — 12.5] — — — 120.0
3| AFIv b [1] 20.0][2] 19.0|[3] 18.0 2.5/[4] 17.0][0] 8.5[9Q] 8.5 2.5 8.5|6] 14.5|[9] 8.5|[Q] 8.5|[5] 14.5[(5] 14.5[[6] 14.5[17] 2.5|[9] 8.5 2.5[[9] 8.5|9] 8.5 210.0
4| SL—F—n 5] 13.5/[3) 16.5|0] 7.5|[5] 13.5|[3] 16.5|[5] 13.5 18.0{[1] 19.0l[8] 7.5|[9] 7.5[[Q] 7.5 2.0l[8] 7.5 2.0|[5] 13.5 2.0[81 7.5[Q] 7.5[[8] 7.5 — 190.0
Fl 5| ~zxrora—n |8 55l 10| 17.0[6 11.5|0] 5.5|[0] 5.5|6] 5.5/0] 5.5|6] 11591 55|81 5.5|(6] 11.5([3] 14.5|(2] 16.0 — |[8] 14.5|[5) 11.5] — — 8] 55| 153.0
o6 F—bhHR— 17.0{[2] 19.0{(11] 8.0|(5] 14.5 8.0 8.0 3.0|16] _3.0)(16] 3.0 3.0[[ 8.0|[5] 14.5[[3] 18.0)[Q] 11.5|[1] 20.0|[5] 14.5 8.0|(5] 14.5 3.0/[9] 11.5] 210.0
‘Z 7| /7 Rdn7  |3] 180 14.0 11.0 4,0 5.0 8.0{ 7.0 2.0/[8] 13.0|(65] 16.0][2] 19.0(6] 15.0[4] 17.0 3.0 9.0[[8] 12.0 6.0/(1] 20.0|[] 10.0{20] 1.0]  210.0
% B OB B = 96.0] 101.0 86.0 66.0] 80.5|  69.5 55.0]  46.0 640/  6L5 65.0] 61.0| 89.5| 54.0/ 70.0] 49.5 56.0 56.0] 29.0] 27.5] 1,283.0
= & Jili J= 70.0 70.0 70.0 70.0 70.0]  70.0 70.0  70.0 70.0]  70.0 70.0f 70.0{ 70.0] 70.0| 50.0]  60.0 70.0 50.0]  40.0 50.0] 1,300.0
B & & Et 166.0] 171.0l 156.0] 136.0 150.5| 139.5| 125.0] 116.0] 134.0] 131.5| 135.0] 131.0) 159.5| 124.0] 120.0] 109.5| 126.0] 106.0] 69.0 77.5] 2,583.0
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